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(B ol)=4x4 = 16(cm?)
(FEo])=4x (4 x6) = 96(cm?)
L (B4l = (EHol) x 2+ (FH°l)
=16%x2+96
= 128(cm?)
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@ T75cm?

@ 70cm?®

® 90cm?

@ 85cm?

Fol= (BHol) x (&°l) ol2=
216 x5 = 80(cm?)




3. =12 4T Azl drEe] 2uole?

< ?3 cm

@ 127rcm? @ 187mcm? @ 247wcm?

@ 36mcm? 3 )48rcm?

2% (mx3?) + (27 X 3) X 5 = 487 (cm?)
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oS £ 9] a7} 240 cm® AW, =H 9] =0|&
F5HH?

@ 4cem @ 5cm ® 6cm

@ 7cm @ 8cm

5><12><%><h:240
. h=8(cm)
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® 300wcm? @ 3207cm? ® 340rcm?®
C(‘93607rcm3 ® 3807mcm?

A 52 4o]7} 12ecm ©]|E & W2 F9] Zol= 6em Ot
wrebA] Y7]59] B ol= 1 x 62 x 10 = 360(cm?) O]t
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@ 48rcm? @ 44mem? @ 36mcm®

@ 32mcm? ®)28rcm?

= 327 — 47 = 287 (cm?)
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® 66cm? @ 69cm? 3®)72 cm?
@ 75cm? ® 78cm?

B

UH o] BAf B o] ¥h2] 59 Zol=4cem, 39 AoJ= 3em O],
71'69] =°]= 12cm O[T},

Bol) = (%x4x3) x 12 = 72(cm?)
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@ 72cm?

@ 164 cm?

@ 104 cm?

1
8X8X8—=X2x2x2=168(cm?)
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® 80mcm?, 90rem? @ 80mcm?, 100mcm?

® 90rcm?, 90mcm? @907rcm2, 1007rcm?

® 100mcm?2, 1007cm?




